

## Summation formula involving harmonic numbers

ANTHONY SOFO

*School of Engineering and Science, Victoria University, P.O.Box 14428,  
Melbourne City, VIC 8001, Australia, e-mail: anthony.sofa@vu.edu.au*

Received May 4, 2009; in revised form December 8, 2009.

**Abstract.** Some identities of sums associated with harmonic numbers and binomial coefficients are developed. Integral representations and closed form identities of these sums are also given.

### 1. Preliminaries

Some usual notational terms are defined for the reader and will be utilized throughout this paper. The generalized hypergeometric function notation

$${}_pF_q \left[ \begin{matrix} a_1, \dots, a_p \\ b_1, \dots, b_q \end{matrix} \middle| t \right] = \sum_{r=0}^{\infty} \frac{(a_1)_r \dots (a_p)_r}{r! (b_1)_r \dots (b_q)_r} t^r,$$

$$\left( \begin{array}{l} p, q \in \{0, 1, 2, 3, \dots\}; p \leq q + 1; p \leq q \text{ and } |t| < \infty; \\ p = q + 1 \text{ and } |t| < 1; p = q + 1, |t| = 1 \text{ and} \\ \operatorname{Re} \left\{ \sum_{m=1}^q b_m - \sum_{m=1}^p a_m \right\} > 0, b_m, \gamma \notin \{0, -1, -2, -3, \dots\} \end{array} \right)$$

and  $(a)_r$  is Pochhammer's symbol defined by

$$(a)_r = a(a+1)(a+2) \cdots (a+r-1), \quad r > 0, (a)_0 = 1.$$

The Beta function

$$B(s, t) = \int_0^1 z^{s-1} (1-z)^{t-1} dz = \frac{\Gamma(s)\Gamma(t)}{\Gamma(s+t)}, \quad \text{for } \operatorname{Re}(s) > 0 \text{ and } \operatorname{Re}(t) > 0,$$

0133-3852/\$ 20.00

© 2011 Akadémiai Kiadó, Budapest

and the Gamma function

$$\Gamma(z) = \int_0^{\infty} t^{z-1} e^{-t} dt, \quad \text{for } \operatorname{Re}(z) > 0.$$

The Riemann zeta function

$$\zeta(z) = \sum_{r=1}^{\infty} \frac{1}{r^z}, \quad \operatorname{Re}(z) > 1$$

and the generalized Harmonic numbers in power  $\alpha$  are defined by

$$H_n^{(\alpha)} = \sum_{r=1}^n \frac{1}{r^\alpha}.$$

The  $n$ th Harmonic number, for  $\alpha = 1$  is defined by

$$H_n^{(1)} = H_n = \int_0^1 \frac{1-t^n}{1-t} dt = \sum_{r=1}^n \frac{1}{r} = \gamma + \psi(n+1),$$

where  $\gamma$  denotes the Euler–Mascheroni constant, defined by

$$\gamma = \lim_{n \rightarrow \infty} \left( \sum_{r=1}^n \frac{1}{r} - \log(n) \right) = -\psi(1) \approx 0.5772156649 \dots$$

The Polygamma functions  $\psi^{(k)}(z)$ ,  $k \in \mathbb{N}$ , are defined by

$$\begin{aligned} \psi^{(k)}(z) &:= \frac{d^{k+1}}{dz^{k+1}} \log \Gamma(z) = \frac{d^k}{dz^k} \left( \frac{\Gamma'(z)}{\Gamma(z)} \right) = \\ &= - \int_0^1 \frac{[\log(t)]^k t^{z-1}}{1-t} dt, \quad k \in \mathbb{N}_0 := \mathbb{N} \cup \{0\}, \quad \mathbb{N} = \{1, 2, 3, \dots\} \end{aligned}$$

and  $\psi^{(0)}(z) = \psi(z)$ , denotes the Psi, or Digamma function, defined by

$$\psi(z) = \frac{d}{dz} \log \Gamma(z) = \frac{\Gamma'(z)}{\Gamma(z)}.$$

We also recall the well known series representation

$$\psi(z) = \sum_{r=0}^{\infty} \left( \frac{1}{r+1} - \frac{1}{r+z} \right) - \gamma.$$

In this paper it is intended to establish integral and closed form identities for sums of the reciprocal of binomial coefficients and harmonic numbers, so called ‘‘Euler sums’’.

There are many striking formulas discovered by Euler in relation to Euler sums, including

$$(1.1) \quad \sum_{n=1}^{\infty} \frac{H_n^{(1)}}{(n+1)^2} = \zeta(3), \quad \sum_{n=1}^{\infty} \frac{H_n^{(1)}}{n^3} = \frac{5}{4} \zeta(4),$$

and the recurrence formula

$$(2n + 1)\zeta(2n) = 2 \sum_{r=1}^{n-1} \zeta(2r)\zeta(2n - 2r),$$

which shows that in particular, for  $n = 2$  we have  $5\zeta(4) = 2(\zeta(2))^2$ , and more generally, that  $\zeta(2n)$  is a rational multiple of  $(\zeta(2n))^2$ . Another striking recursion known to EULER [6] is the following:

$$(1.2) \quad 2 \sum_{n=1}^{\infty} \frac{H_n^{(1)}}{n^q} = (q + 2)\zeta(q + 1) - \sum_{r=1}^{q-2} \zeta(r + 1)\zeta(q - r).$$

In a response to a letter from Goldbach, EULER [6] (see also [5]), considered sums of the form

$$E_{k,s} = \sum_{n=1}^{\infty} \frac{H_{n-1}^{(s)}}{n^k}$$

for  $k$  and  $s$  positive integers and extrapolated that  $E_{k,s}$  ( $k + s \leq 13$ ) can be evaluated in terms of the Riemann  $\zeta$  functions. NIELSEN [10] gave an unambiguous version of Euler's proof for (1.2) and for  $k + s = 2q + 1$ ,  $q \geq 1$ , BORWEIN et al. [5] gave a complete proof for

$$(1.3) \quad E_{k,s} = \frac{A}{2} \left[ \binom{k+s}{s} - A \right] \zeta(k+s) + \zeta(k)\zeta(s) - \\ - A \sum_{r=1}^q \left[ \binom{2r-2}{s-1} + \binom{2r-2}{k-1} \right] \zeta(2r-1)\zeta(k+s-2r+1),$$

where  $A = 1$  for  $s$  odd and  $A = -1$  for  $s$  even. Further work in the summation of harmonic numbers and binomial coefficients has also been done by BASU [4] and FLAJOLET and SALVY [7]. In this paper we intend to add, in a small way, some results related to (1.1) and (1.2). Specifically, we investigate integral representations and closed form representations for sums of the form

$$\sum_{n \geq 1} \frac{H_n^{(1)}}{\binom{bn+k}{k} \binom{cn+l}{l}}$$

for specific parameter values. The works of [1], [2], [3], [9], [11], [12], [13], [14] and [16] also investigate various representations of binomial sums and zeta functions in simpler form by the use of the Beta function and other techniques.

## 2. Harmonic numbers

The following result has been obtained in [11].

Lemma 1. *Let  $a$  be a positive real number with  $j \geq 0$ ,  $n > 0$ , and let*

$$Q(a, j) = \binom{an + j}{j}^{-1}$$

*be an analytic function in  $j$ . Then*

$$Q^{(1)}(a, j) = \frac{dQ}{dj} = \begin{cases} -Q(a, j)P(a, j), \\ \quad \text{where } P(a, j) = \sum_{r=1}^{an} \frac{1}{r+j} \text{ for } j > 0, \\ -Q(a, j)[\psi(j+1+an) - \psi(j+1)] - H_n^{(1)}, \\ \quad \text{for } j = 0 \text{ and } a = 1, \end{cases}$$

and

$$Q^{(\lambda)}(a, j) = \frac{d^\lambda Q}{dj^\lambda} = - \sum_{\rho=0}^{\lambda-1} \binom{\lambda-1}{\rho} Q^{(\rho)}(a, j) P^{(\lambda-1-\rho)}(a, j), \quad \text{for } \lambda \geq 2,$$

where

$$P^{(0)}(a, j) = \sum_{r=1}^{an} \frac{1}{r+j}, \quad \text{for } n = 1, 2, 3, \dots, \quad \text{and } Q^{(0)}(a, j) = Q(a, j).$$

For  $i = 1, 2, 3, \dots$

$$(2.1) \quad P^{(i)}(a, j) = \frac{d^i P}{dj^i} = \frac{d^i}{dj^i} \left( \sum_{r=1}^{an} \frac{1}{r+j} \right) =$$

$$= (-1)^i i! \sum_{r=1}^{an} \frac{1}{(r+j)^{i+1}} = (-1)^i i! \left[ \zeta(i+1, j+1) - \zeta(i+1, j+1+an) \right],$$

$$\zeta(q, b) = \sum_{k=0}^{\infty} \frac{1}{(k+b)^q}$$

is the generalized Zeta function, where any term with  $k+b=0$  is excluded.

Remark 1. Some particular and special cases of Lemma 1 are the following:

$$Q^{(1)}(a, j) = - \binom{an + j}{j}^{-1} \sum_{r=1}^{an} \frac{1}{r+j},$$

$$Q^{(2)}(a, j) = \binom{an + j}{j}^{-1} \left[ \left( \sum_{r=1}^{an} \frac{1}{r+j} \right)^2 + \sum_{r=1}^{an} \frac{1}{(r+j)^2} \right] =$$

$$= \binom{an+j}{j}^{-1} \left[ \sum_{r=1}^{an} \sum_{s=1}^r \frac{2}{(r+j)(s+j)} \right],$$

and

$$Q^{(3)}(a, j) = - \binom{an+j}{j}^{-1} \left[ \left( \sum_{r=1}^{an} \frac{1}{r+j} \right)^3 + 2 \sum_{r=1}^{an} \frac{1}{(r+j)^3} + 3 \sum_{r=1}^{an} \frac{1}{(r+j)^2} \sum_{r=1}^{an} \frac{1}{r+j} \right].$$

In the special case when  $a = 1$  and  $j = 0$  we may write

$$Q^{(1)}(1, 0) = -H_n^{(1)}, \quad Q^{(2)}(1, 0) = (H_n^{(1)})^2 + H_n^{(2)},$$

and

$$Q^{(3)}(1, 0) = (H_n^{(1)})^3 + 3H_n^{(1)}H_n^{(2)} + 2H_n^{(3)}.$$

Our first result is the following

**Theorem 1.** *Let  $a \geq 0$ ,  $b \geq 0$ ,  $c \geq 0$  be real positive numbers  $j, k, l \geq 0$ , and  $|t| \leq 1$ . Then we have*

$$(2.2) \quad \sum_{n=1}^{\infty} \frac{t^n \sum_{r=1}^{an} \frac{1}{r+j}}{\binom{an+j}{j} \binom{bn+k}{k} \binom{cn+l}{l}} = \sum_{n=1}^{\infty} \frac{t^n [\psi(j+1+an) - \psi(j+1)]}{\binom{an+j}{j} \binom{bn+k}{k} \binom{cn+l}{l}}$$

$$(2.3) \quad = -aklt \int_0^1 \int_0^1 \int_0^1 \frac{(1-x)^j (1-y)^{k-1} (1-z)^{l-1} x^{a-1} y^b z^c \log(1-x)}{(1-tx^a y^b z^c)^2} dx dy dz,$$

where  $|tx^a y^b z^c| < 1$ .

**Proof.** To prove (2.3), consider the following expansion:

$$\begin{aligned} & \sum_{n=1}^{\infty} \frac{t^n}{\binom{an+j}{j} \binom{bn+k}{k} \binom{cn+l}{l}} = \\ &= \sum_{n=1}^{\infty} \frac{t^n ank l \Gamma(an) \Gamma(j+1) \Gamma(bn+1) \Gamma(k) \Gamma(cn+1) \Gamma(l)}{\Gamma(an+j+1) \Gamma(bn+k+1) \Gamma(cn+l+1)} = \\ &= ak l \sum_{n=1}^{\infty} t^n n B(an, j+1) B(bn+1, k) B(cn+1, l) = \\ &= ak l \sum_{n=1}^{\infty} t^n n B(bn+1, k) B(cn+1, l) \int_0^1 x^{an-1} (1-x)^j dx. \end{aligned}$$

Now we can differentiate both sides with respect to the parameter  $j$ , and by using Lemma 1, we have

$$\begin{aligned} & \sum_{n=1}^{\infty} \frac{t^n \sum_{r=1}^{an} \frac{1}{r+j}}{\binom{an+j}{j} \binom{bn+k}{k} \binom{cn+l}{l}} = \\ & = -akl \sum_{n=1}^{\infty} t^n n B(bn+1, k) B(cn+1, l) \int_0^1 x^{an-1} (1-x)^j \ln(1-x) dx = \\ & = -akl \sum_{n=1}^{\infty} t^n n \int_0^1 x^{an-1} (1-x)^j \ln(1-x) dx \times \\ & \quad \times \int_0^1 y^{bn} (1-y)^{k-1} dy \int_0^1 z^{cn} (1-z)^{l-1} dz. \end{aligned}$$

By the dominated convergence theorem, we have a justified change of order of sum and integral, thus we may write

$$\begin{aligned} & \sum_{n=1}^{\infty} \frac{t^n \sum_{r=1}^{an} \frac{1}{r+j}}{\binom{an+j}{j} \binom{bn+k}{k} \binom{cn+l}{l}} = \\ & = -akl \int_0^1 \int_0^1 \int_0^1 \frac{(1-x)^j (1-y)^{k-1} (1-z)^{l-1} \ln(1-x)}{x} \times \\ & \quad \times \sum_{n=1}^{\infty} n (tx^a y^b z^c)^n dx dy dz = \\ & = -aklt \int_0^1 \int_0^1 \int_0^1 \frac{(1-x)^j (1-y)^{k-1} (1-z)^{l-1} x^{a-1} y^b z^c \log(1-x)}{(1-tx^a y^b z^c)^2} dx dy dz, \end{aligned}$$

which is the result (2.3).  $\square$

Some consequences of Theorem 1 are the following.

**Corollary 1.** *For  $a = b = 1$ ,  $t = 1$  and  $j = l = 0$ , we have*

$$\begin{aligned} (2.4) \quad \sum_{n=1}^{\infty} \frac{H_n^{(1)}}{\binom{n+k}{k}} &= -k \int_0^1 \int_0^1 \frac{(1-y)^{k-1} y \log(1-x)}{(1-xy)^2} dx dy = \\ &= \frac{k}{(k-1)^2} \quad \text{for } k > 1. \end{aligned}$$

This is a result that is also claimed by Cloitre and reported in [15], and later proved by SOFO [14].

Remark 2. For  $a = b = 1$ ,  $t = \frac{1}{2}$  and  $j = l = 0$ , SOFO [14] obtained the following new result:

$$\sum_{n=1}^{\infty} \frac{\left(\frac{1}{2}\right)^n H_n^{(1)}}{\binom{n+k}{k}} = (-1)^{k+1} k \left( \ln^2(2) + \right. \\ \left. + 2 \sum_{r=1}^{k-1} \binom{k-1}{r} \frac{(-1)^r}{r} \ln(2) + 2 \sum_{r=1}^{k-1} \binom{k-1}{r} \frac{(-1)^r (1-2^r)}{r^2} \right).$$

The following new results are also consequences of Theorem 1.

Corollary 2. Let  $a = b = c = 1$ ,  $j = 0$ ,  $l = 1$ ,  $k \geq 2$ , and  $t = 1$ . Then we have

$$(2.5) \quad \sum_{n=1}^{\infty} \frac{H_n^{(1)}}{(n+1) \binom{n+k}{k}} = -k \int_0^1 \int_0^1 \int_0^1 \frac{(1-y)^{k-1} y z \ln(1-x)}{(1-xyz)^2} dx dy dz =$$

$$(2.6) \quad = k\zeta(3) - kH_{k-1}^{(3)}.$$

Proof. To prove (2.6), consider (2.5) and expand as follows:

$$\sum_{n=1}^{\infty} \frac{H_n^{(1)}}{(n+1) \binom{n+k}{k}} = \sum_{n=1}^{\infty} \frac{k! H_n^{(1)}}{(n+1)^2 (n+2)_{k+1}} = \sum_{n=1}^{\infty} \frac{k! H_n^{(1)}}{(n+1)^2} \sum_{r=2}^k \frac{A_r}{(n+r)},$$

where

$$A_r = \lim_{n \rightarrow (-r)} \left\{ \frac{n+r}{\prod_{r=2}^k (n+r)} \right\} = \frac{(-1)^r}{(k-r)!(r-2)!} = \frac{2(-1)^r}{k!} \binom{k}{r} \binom{r}{2}.$$

Now, by rearrangement we get

$$\sum_{n=1}^{\infty} \frac{k! H_n^{(1)}}{(n+1)^2} \left[ \sum_{r=2}^k \frac{2(-1)^r}{(n+r)k!} \binom{k}{r} \binom{r}{2} \right] = \\ = \sum_{r=2}^k \frac{2(-1)^r}{k!} \binom{k}{r} \binom{r}{2} \sum_{n=1}^{\infty} \frac{k! H_n^{(1)}}{(n+1)^2 (n+r)};$$

and by partial fraction decomposition we get

$$\begin{aligned}
(2.7) \quad &= \sum_{r=2}^k 2(-1)^r \binom{k}{r} \binom{r}{1} \sum_{n=1}^{\infty} \frac{H_n^{(1)}}{(r-1)} \times \\
&\times \left[ \frac{1}{(n+1)^2} - \frac{1}{(r-1)(n+1)} + \frac{1}{(r-1)(n+r)} \right] = \\
&= \sum_{r=2}^k (-1)^r \binom{k}{r} \binom{r}{1} \sum_{n=1}^{\infty} H_n^{(1)} \left[ \frac{1}{(n+1)^2} - \frac{1}{(n+r)(n+1)} \right].
\end{aligned}$$

Since we have

$$\sum_{n=1}^{\infty} \frac{H_n^{(1)}}{(n+1)^2} = \zeta(3) \quad \text{and} \quad \sum_{n=1}^{\infty} \frac{H_n^{(1)}}{(n+1)(n+r)} = \frac{(H_{r-1}^{(1)})^2 + H_{r-1}^{(2)}}{2(r-1)},$$

(2.7) can be written as follows:

$$\begin{aligned}
&\sum_{r=2}^k (-1)^r \binom{k}{r} \binom{r}{1} \left[ \zeta(3) - \frac{(H_{r-1}^{(1)})^2 + H_{r-1}^{(2)}}{2(r-1)} \right] = \\
&= \sum_{r=2}^k (-1)^r \binom{k}{r} \binom{r}{1} \zeta(3) - \sum_{r=2}^k (-1)^r \binom{k}{r} \binom{r}{1} \frac{(H_{r-1}^{(1)})^2 + H_{r-1}^{(2)}}{2(r-1)} = \\
&= k\zeta(3) - kH_{k-1}^{(3)}, \quad \text{for } k \geq 2,
\end{aligned}$$

which is the result (2.6).  $\square$

Another result is embodied in the following

**Corollary 3.** *Let  $a = b = c = 1$ ,  $j = 0$ ,  $l = 2$ ,  $k \geq 2$ , and  $t = 1$ . Then we have*

$$\begin{aligned}
\sum_{n=1}^{\infty} \frac{H_n^{(1)}}{\binom{n+2}{2} \binom{n+k}{k}} &= -2 \int_0^1 \int_0^1 \int_0^1 \frac{(1-y)^{k-1} (1-z) y z \ln(1-x)}{(1-xyz)^2} dx dy dz = \\
&= 2k^2 \zeta(3) + 2k(k-1) \zeta(2) - 2k^2 H_k^{(3)} - 2k(k-1) H_k^{(2)} - 2(k-1).
\end{aligned}$$

**Proof.** Expand as follows:

$$\begin{aligned}
&\sum_{n=1}^{\infty} \frac{H_n^{(1)}}{\binom{n+2}{2} \binom{n+k}{k}} = \sum_{n=1}^{\infty} \frac{2H_n^{(1)}}{(n+2)(n+1) \binom{n+k}{k}} = \\
&= \sum_{n=1}^{\infty} \frac{2k! H_n^{(1)}}{(n+2)^2 (n+1)^2 (n+3)_{k+1}} = \sum_{n=1}^{\infty} \frac{2k! H_n^{(1)}}{(n+2)^2 (n+1)^2} \sum_{r=3}^k \frac{B_r}{(n+r)},
\end{aligned}$$



where

$$\begin{aligned} B_r &= \lim_{n \rightarrow (-r)} \left\{ \frac{n+r}{\prod_{r=3}^k (n+r)} \right\} = \frac{(-1)^{r+1}}{(k-r)!(r-3)!} = \\ &= \frac{3!(-1)^{r+1}}{k!} \binom{k}{r} \binom{r}{3}, \quad k \geq 3. \end{aligned}$$

Now, by rearrangement we get

$$\begin{aligned} &\sum_{n=1}^{\infty} \frac{2H_n^{(1)}}{(n+2)^2(n+1)^2} \left[ \sum_{r=3}^k \frac{3!(-1)^{r+1}}{(n+r)} \binom{k}{r} \binom{r}{3} \right] = \\ &= 2 \sum_{r=3}^k 3!(-1)^{r+1} \binom{k}{r} \binom{r}{3} \sum_{n=1}^{\infty} \frac{H_n^{(1)}}{(n+2)^2(n+1)^2(n+r)}; \end{aligned}$$

by partial fraction decomposition we get

$$\begin{aligned} \sum_{n=1}^{\infty} \frac{H_n^{(1)}}{\binom{n+2}{2} \binom{n+k}{k}} &= 2 \sum_{r=3}^k 3!(-1)^{r+1} \binom{k}{r} \binom{r}{3} \sum_{n=1}^{\infty} H_n^{(1)} \left[ \frac{1}{(r-1)^2(n+1)^2} + \right. \\ &\quad \left. + \frac{1}{(r-2)^2(n+2)^2} - \frac{2r-1}{(r-1)^2(n+1)} + \right. \\ &\quad \left. + \frac{2r-5}{(r-2)^2(n+2)} + \frac{1}{(r-1)^2(r-2)^2(n+r)} \right] = \\ &= 2 \sum_{r=3}^k 3!(-1)^{r+1} \binom{k}{r} \binom{r}{3} \sum_{n=1}^{\infty} H_n^{(1)} \left[ \frac{1}{(r-1)^2(n+1)^2} - \right. \\ &\quad \left. - \frac{n(2r-3)}{(r-1)(r-2)(n+1)(n+2)(n+r)} + \frac{1}{(r-2)^2(n+2)^2} - \right. \\ &\quad \left. - \frac{2r^2-3r-1}{(r-1)(r-2)(n+1)(n+2)(n+r)} \right] = \\ &= 2 \sum_{r=3}^k \frac{3!(-1)^{r+1}}{(r-1)} \binom{k}{r} \binom{r}{3} \zeta(3) + \\ &\quad + 2 \sum_{r=3}^k \frac{3!(-1)^{r+1}}{(r-2)} \binom{k}{r} \binom{r}{3} (\zeta(3) + \zeta(2) - 2) - \\ &\quad - \sum_{r=3}^k \frac{3!(-1)^{r+1}(2r-3)}{(r-1)^2(r-2)^2} \binom{k}{r} \binom{r}{3} (-4(r-1) + r(H_{r-1}^{(1)})^2 + rH_{r-1}^{(2)}) - \\ &\quad - \sum_{r=3}^k \frac{3!(-1)^{r+1}(2r^2-3r-1)}{(r-1)^2(r-2)^2} \binom{k}{r} \binom{r}{3} (2(r-1) - (H_{r-1}^{(1)})^2 - H_{r-1}^{(2)}). \end{aligned}$$

Collecting harmonic terms and isolating the terms  $\zeta(3)$  and  $\zeta(2)$ , we have

$$\begin{aligned}
&= \sum_{r=3}^k 2(-1)^{r+1}(2r-3) \binom{k}{r} \binom{r}{1} \zeta(3) + \sum_{r=3}^k 2(-1)^{r+1}(r-1) \binom{k}{r} \binom{r}{1} \zeta(2) - \\
&\quad - \sum_{r=3}^k 2(-1)^{r+1} \frac{(4r-9)(r-1)}{(r-2)} \binom{k}{r} \binom{r}{1} - \\
&\quad - \sum_{r=3}^k (-1)^{r+1} \binom{k}{r} \binom{r}{1} \left( \frac{(H_{r-1}^{(1)})^2 + H_{r-1}^{(2)}}{(r-1)(r-2)} \right) = \\
&\quad = 2k^2 \zeta(3) - 2k(k-1) \zeta(2) - \\
&\quad - \sum_{r=3}^k (-1)^{r+1} \binom{k}{r} \frac{r}{(r-2)} \left( 2(r-1)(4r-9) + \frac{(H_{r-1}^{(1)})^2 + H_{r-1}^{(2)}}{(r-1)} \right) = \\
&= 2k^2 \zeta(3) + 2k(k-1) \zeta(2) - 2k^2 H_k^{(3)} - 2k(k-1) H_k^{(2)} - 2(k-1) = \\
&\quad = \sum_{n=1}^{\infty} \frac{H_n^{(1)}}{\binom{n+2}{2} \binom{n+k}{k}}. \quad \square
\end{aligned}$$

**Remark 3.** An observation from Corollary 3 is the fact that the following sum

$$\begin{aligned}
&\sum_{r=3}^k (-1)^{r+1} \binom{k}{r} \frac{r}{(r-2)} \left( 2(r-1)(4r-9) + \frac{(H_{r-1}^{(1)})^2 + H_{r-1}^{(2)}}{(r-1)} \right) = \\
&\quad = 2k^2 H_k^{(3)} + 2k(k-1) H_k^{(2)} + 2(k-1)
\end{aligned}$$

involves rational numbers. Hence we deduce

$$\begin{aligned}
(2.8) \quad &\sum_{r=3}^k (-1)^r \binom{k}{r} \frac{r}{(r-1)(r-2)} \left( (H_{r-1}^{(1)})^2 + H_{r-1}^{(2)} \right) = \\
&= 2k^2 H_k^{(3)} + 2k(k-1) H_k^{(2)} + 2k(k-1) H_{k-1}^{(1)} - 2(2k-1)^2,
\end{aligned}$$

since it can be shown that

$$\sum_{r=3}^k (-1)^{r+1} \binom{k}{r} \frac{2r(r-1)(4r-9)}{(r-2)} = 2k \left[ 4k-3 - (k-1)(\gamma + \psi(k)) \right];$$

and by the identity

$$\psi(k) = H_{k-1}^{(1)} - \gamma,$$

we have

$$\sum_{r=3}^k (-1)^{r+1} \binom{k}{r} \frac{2r(r-1)(4r-9)}{(r-2)} = 2k \left[ 4k-3 - (k-1) H_{k-1}^{(1)} \right].$$

Now, we consider another extension of Theorem 1.

**Theorem 2.** *Let  $a = b = c = 1$ ,  $j = 0$ ,  $l = k$ ,  $k \geq 2$ , and  $t = 1$ . Then we have*

$$\begin{aligned} \sum_{n=1}^{\infty} \frac{H_n^{(1)}}{\binom{n+k}{k}^2} &= -k^2 \int_0^1 \int_0^1 \int_0^1 \frac{((1-y)(1-z))^{k-1} yz \ln(1-x)}{(1-xyz)^2} dx dy dz = \\ &= -\frac{1}{(k+1)^2} \int_0^1 \log(1-x) {}_3F_2 \left[ \begin{matrix} 2, 2, 2 \\ 2+k, 2+k \end{matrix} \middle| x \right] dx = \\ &= \sum_{r=2}^k (\lambda_r \zeta(3) + \mu_r \zeta(2) + \nu_r), \end{aligned}$$

where

$$\lambda_r = r^2 \binom{k}{r}^2 \left( 2 + 2(r-1)(H_{r-2}^{(1)} - H_{k-r}^{(1)}) \right), \quad \mu_r = r^2 \binom{k}{r}^2 H_{r-1}^{(1)}$$

and

$$\begin{aligned} \nu_r &= r^2 \binom{k}{r}^2 \left( -H_{r-1}^{(1)} H_{r-1}^{(2)} - \right. \\ &\left. - H_{r-1}^{(3)} - \frac{(H_{r-1}^{(1)})^2 + H_{r-1}^{(2)}}{r-1} + ((H_{r-1}^{(1)})^2 + H_{r-1}^{(2)})(H_{k-r}^{(1)} - H_{r-2}^{(1)}) \right). \end{aligned}$$

**Proof.** Consider the following expansion:

$$\begin{aligned} (2.9) \quad \sum_{n=1}^{\infty} \frac{H_n^{(1)}}{\binom{n+k}{k}^2} &= \sum_{n=1}^{\infty} \frac{(k!)^2 H_n^{(1)}}{(n+1)^2 ((n+2)_{k+1})^2} = \\ &= \sum_{n=1}^{\infty} \frac{(k!)^2 H_n^{(1)}}{(n+1)^2} \sum_{r=2}^k \left[ \frac{A_r}{(n+r)} + \frac{B_r}{(n+r)^2} \right]. \end{aligned}$$

Since

$$\begin{aligned} B_r &= \lim_{n \rightarrow (-r)} \left\{ \frac{(n+r)^2}{\prod_{r=2}^k (n+r)^2} \right\} = \frac{1}{[(k-r)!(r-2)!]^2} = \\ &= \left( \frac{2}{k!} \binom{k}{r} \binom{r}{2} \right)^2, \quad k \geq 2 \end{aligned}$$

and

$$A_r = \lim_{n \rightarrow (-r)} \frac{d}{dn} \left\{ \frac{(n+r)^2}{\prod_{r=2}^k (n+r)^2} \right\} = -2 \left( \frac{2}{k!} \binom{k}{r} \binom{r}{2} \right)^2 (H_{k-r}^{(1)} - H_{r-2}^{(1)});$$

it follows from (2.9) that

$$(2.10) \quad \sum_{n=1}^{\infty} \frac{H_n^{(1)}}{(n+1)^2} \sum_{r=2}^k \left( \frac{2}{k!} \binom{k}{r} \binom{r}{2} \right)^2 \left[ \frac{1}{(n+r)^2} - \frac{2(H_{k-r}^{(1)} - H_{r-2}^{(1)})}{n+r} \right] =$$

$$= \sum_{r=2}^k \left( \frac{2}{k!} \binom{k}{r} \binom{r}{2} \right)^2 \sum_{n=1}^{\infty} \frac{H_n^{(1)}}{(n+1)^2(n+r)^2} +$$

$$+ 2 \sum_{r=2}^k \left( \frac{2}{k!} \binom{k}{r} \binom{r}{2} \right)^2 (H_{r-2}^{(1)} - H_{k-r}^{(1)}) \sum_{n=1}^{\infty} \frac{H_n^{(1)}}{(n+1)^2(n+r)}.$$

First, we note that

$$\sum_{n=1}^{\infty} \frac{H_n^{(1)}}{(n+1)^2(n+r)} = \sum_{n=1}^{\infty} \frac{H_n^{(1)}}{(r-1)(n+1)^2} - \sum_{n=1}^{\infty} \frac{H_n^{(1)}}{(r-1)(n+1)(n+r)}$$

and using (1.1) gives

$$= \frac{1}{(r-1)} \zeta(3) - \frac{1}{2(r-1)^2} (H_{r-1}^{(2)} + (H_{r-1}^{(1)})^2).$$

Similarly, we have

$$\sum_{n=1}^{\infty} \frac{H_n^{(1)}}{(n+1)^2(n+r)^2} =$$

$$= \sum_{n=1}^{\infty} H_n^{(1)} \left[ \frac{1}{(r-1)^2(n+1)^2} + \frac{1}{(r-1)^2(n+r)^2} - \frac{2}{(r-1)^2(n+1)(n+r)} \right] =$$

$$= \frac{2\zeta(3)}{(r-1)^2} + \frac{\zeta(2)H_{r-1}^{(1)}}{(r-1)^2} - \frac{H_{r-1}^{(1)}H_{r-1}^{(2)} + H_{r-1}^{(3)}}{(r-1)^2} - \frac{(H_{r-1}^{(1)})^2 + H_{r-1}^{(2)}}{(r-1)^3};$$

and after some lengthy algebraic manipulations (and with the aid of Mathematica [17]), by (2.10) we can write

$$\sum_{r=2}^k \left( \binom{k}{r} \binom{r}{1} \right)^2 \left[ 2\zeta(3) + \zeta(2)H_{r-1}^{(1)} - \right.$$

$$\left. - H_{r-1}^{(1)}H_{r-1}^{(2)} - H_{r-1}^{(3)} - \frac{(H_{r-1}^{(1)})^2 + H_{r-1}^{(2)}}{r-1} \right] +$$

$$+ \sum_{r=2}^k \left( \binom{k}{r} \binom{r}{1} \right)^2 (H_{r-2}^{(1)} - H_{k-r}^{(1)}) \left[ 2(r-1)\zeta(3) - H_{r-1}^{(2)} - (H_{r-1}^{(1)})^2 \right] =$$

$$\begin{aligned}
&= \sum_{r=2}^k \left( \binom{k}{r} \binom{r}{1} \right)^2 \left[ 2 + 2(r-1)(H_{r-2}^{(1)} - H_{k-r}^{(1)}) \right] \zeta(3) + \\
&+ \sum_{r=2}^k \left( \binom{k}{r} \binom{r}{1} \right)^2 H_{r-1}^{(1)} \zeta(2) + \sum_{r=2}^k \left( \binom{k}{r} \binom{r}{1} \right)^2 \left[ -H_{r-1}^{(1)} H_{r-1}^{(2)} - \right. \\
&\left. - H_{r-1}^{(3)} - \frac{(H_{r-1}^{(1)})^2 + H_{r-1}^{(2)}}{r-1} + (H_{r-2}^{(1)} - H_{k-r}^{(1)}) (-H_{r-1}^{(2)} - (H_{r-1}^{(1)})^2) \right].
\end{aligned}$$

On the other hand, we can compute the integral as follows:

$$\begin{aligned}
&-k^2 \int_0^1 \int_0^1 \int_0^1 \frac{((1-y)(1-z))^{k-1} yz \ln(1-x)}{(1-xyz)^2} dx dy dz = \\
&= -\frac{k}{k+1} \int_0^1 \int_0^1 (1-y)^{k-1} y \ln(1-x) {}_2F_1 \left[ \begin{matrix} 2, 2 \\ 2+k \end{matrix} \middle| xy \right] dx dy = \\
&= -\frac{1}{(k+1)^2} \int_0^1 \log(1-x) {}_3F_2 \left[ \begin{matrix} 2, 2, 2 \\ 2+k, 2+k \end{matrix} \middle| x \right] dx. \quad \square
\end{aligned}$$

Another result for the nonunitary coefficients of  $n$ , while following the method used in the proof of Corollary 3, is the following

Corollary 4. *Let  $a = b = 1$ ,  $c = 2$ ,  $j = 0$ ,  $l = 2$ ,  $k \geq 2$ , and  $t = 1$ . Then we have*

$$\begin{aligned}
&\sum_{n=1}^{\infty} \frac{H_n^{(1)}}{\binom{2n+2}{2} \binom{n+k}{k}} = \\
&= -2k \int_0^1 \int_0^1 \int_0^1 \frac{(1-y)^{k-1} (1-z) yz^2 \ln(1-x)}{(1-xyz^2)^2} dx dy dz = \\
&= k B\left(\frac{1}{2}, k\right) \zeta(2) - k \zeta(3) - 2k B\left(\frac{1}{2}, k\right) \ln^2(2) + \\
&\quad + \sum_{r=2}^k (-1)^r \binom{k}{r} \binom{r}{1} \left[ \frac{H_{r-1}^{(2)} + (H_{r-1}^{(1)})^2}{2(r-1)(2r-1)} \right].
\end{aligned}$$

Remark 4. Results can be easily obtained from Theorem 1 which are similar to those obtained by JANOUS [8]. For  $a = 2$ ,  $b = c = 2$ ,  $j = 0$ ,  $l = 1$ ,  $k = 1$ , and  $t = 1$ , we have

$$\sum_{n=1}^{\infty} \frac{H_{2n}^{(1)}}{(2n+1)^2} = -2 \int_0^1 \int_0^1 \int_0^1 \frac{xy^2 z^2 \log(1-x)}{(1-x^2 y^2 z^2)^2} dx dy dz = \frac{7}{16} \zeta(3).$$

## References

- [1] G. ALMKVIST, C. KRATTENTHALER, and J. PETERSSON, Some new formulas for  $\pi$ , *Experiment. Math.*, **12**(2003), 441–456.
- [2] H. ALZER and S. KOUMANDOS, Series representations for  $\gamma$  and other mathematical constants, *Analysis Math.*, **34**(2008), 1–8.
- [3] H. ALZER, D. KARAANNAKIS, and H. M. SRIVASTAVA, Series representations of some mathematical constants, *J. Math. Anal. Appl.*, **320**(2006), 145–162.
- [4] A. BASU, A new method in the study of Euler sums, *Ramanujan J.*, **16**(2008), 7–24.
- [5] D. BORWEIN, J. BORWEIN, and R. GIRGENSOHN, Explicit evaluation of Euler sums, *Proc. Edinburgh Math. Soc.*, **38**(2)(1995), 277–294.
- [6] L. EULER, *Opera Omnia*, Ser. 1, Vol XV, Teubner (Berlin, 1917).
- [7] P. FLAJOLET and B. SALVY, Euler sums and contour integral representations, *Exp. Math.*, **7**(1998), 15–35.
- [8] W. JANOUS, Around Apéry’s constant, *J. Inequal. Pure Appl. Math.*, **7**(2006), article 35.
- [9] C. KRATTENTHALER AND K. S. RAO, Automatic generation of hypergeometric identities by the beta integral method, *J. Comput. Math. Appl.*, **160**(2003), 159–173.
- [10] N. NIELSEN, *Die Gammafunktion*, Chelsea (New York, 1965).
- [11] A. SOFO, Integral forms of sums associated with harmonic numbers, *Appl. Math. Comput.*, **207**(2009), 365–372.
- [12] A. SOFO, *Computational Techniques for the Summation of Series*, Kluwer Academic/Plenum Publishers (New York, 2003).
- [13] A. SOFO, Sums of derivatives of binomial coefficients, *Advances Appl. Math.*, **42**(2009), 123–134.
- [14] A. SOFO, Harmonic numbers and double binomial coefficients, *Integral Transforms and Spec. Funct.*, **20**(11)(2009), 847–857.
- [15] J. SONDOW and E.W. WEISSSTEIN, Harmonic number, MathWorld—A Wolfram Web Resources, <http://mathworld.wolfram.com/HarmonicNumber.html>.
- [16] H. M. SRIVASTAVA and J. CHOI. *Series Associated with the Zeta and Related Functions*, Kluwer Academic Publishers (Dordrecht–Boston, 2001).
- [17] Wolfram Research Inc., Mathematica, Wolfram Research Inc., Champaign, IL.

## Формула суммирования с гармоническими числами

АНТОНИ СОФО

Получены некоторые тождества для сумм, связанных с гармоническими числами и биномиальными коэффициентами. Получены также интегральные представления и тождества в замкнутой форме для таких сумм.